a(0 @) (raqd)

Ratio

Ratio

] S [
9
o
8 -
S}
o
107 107 Y=t
ol 0 N I 1 1 A A
" - SRR T
E ] ] T . ] ]
G100 ¢ B O B S S R L B X O B PR 24 r ] b
F y 4 1 4 E 4|
0.8F 3 G 2 SR (1 [ !
0.6f--]- H AR 0.8f i ¥ AT T3 1
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQMstep3_TT_CKF
—— DQMstep3_TT_default
—— DQMstep3_TT_ckfPixelLess

SICEWATL

- - E . E
- - )
- - % . .. —
- - .:. ) - -l ’\N
. " o]
r Rk ¥ o
1 ..! .: -] - L .6/
L HH 4 }: & 4

107}

" ||||I||||I’||||||||I||||I|||| 1072||||I||| '

[y

[+ kA

iy
TTTT] T

(NG IAEIRY
f E 1 0.5

-2 -1 0 1 2 3 - 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

0.5

=

owp./p,)

JEny
S
[

R e— . —— L
—— [
f— . E
l\)...','..........
——— =
p— E
—= -

& et
N =) : E
|
AR
o

3
TP n (PCA to beamline)



	Contents
	Page 1


